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Q1: Hello? Hallo?

(5 points)

Description
You encounter a person. You think that he must be either an American or a German, but you can
not so sure. With the greeting he says to you, please reply to him in the same language.

Input Format

There is only one line.
If he is an American, he will say “I am Name”, where Name is his name.
If he is a German, he will say “Ich bin Name”, where Name is his name.

Output Format

You should print only one line.

If he is an American, you should reply “Hello,” and “Name” separated by a space, where Name is
his name.

If he is a German, you should reply “Hallo, ” and “Name” separated by a space, where Name is
his name.

Data Range
The length of Name will be at least 1 and not exceed 10. Name will only contain English
alphabet.

Input Example 1
Ich binV

Output Example 1
Hallo, V

Input Example 2
lamy

Output Example 2
Hello, y

Input Example 3
Ich bin fk

Output Example 3
Hallo, fk
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Example Explanation:

Notice that there’s difference between Hello and Hallo.
In Example 1 and Example 3, he is a German.
In Example 2, he is an American.



